
 

 

Q1: In a class of 40 students, John is ranked 15th from the top. What is his rank from the bottom? 

Answer 1 (Normal method): To find John's rank from the bottom, we need to understand that if he is 

ranked 15th from the top, it means there are 14 students above him. Therefore, the remaining students 

would be below him. The total number of students is 40, so the number of students below John is 

40−1540−15. Adding one (since John's position also needs to be counted from the bottom), we get: 

40−15+1=2640−15+1=26 Thus, John's rank from the bottom is 26th. 

 

Answer 2 (Tips and tricks): Simply subtract John's rank from the total number of students and add 1: 

40−15+1=2640−15+1=26 

 

Q2: If Adam ranks 9th from the top and 32nd from the bottom in a class, how many students are 

there in the class? 

Answer 1 (Normal method): If Adam is 9th from the top, there are 8 students above him. If he is 32nd 

from the bottom, there are 31 students below him. Including Adam himself, the total number of students 

in the class is the sum of all these positions: 

8(𝑎𝑏𝑜𝑣𝑒)+1(𝐴𝑑𝑎𝑚)+31(𝑏𝑒𝑙𝑜𝑤)=408(above)+1(Adam)+31(below)=40 Thus, there are 40 students in the 

class. 

 

Answer 2 (Tips and tricks): Add Adam's ranks from the top and bottom, then subtract 1: 

9+32−1=409+32−1=40 

 

Q3: In a race of 50 participants, David finished 13th from the last. What is his rank from the first? 

Answer 1 (Normal method): To determine David's rank from the first, we need to know how many 

participants finished before him. If David is 13th from the last, it means there are 12 participants behind 

him. Subtracting these participants from the total gives us the participants ahead of him: 

50−13=3750−13=37 Including David, his rank from the first is: 37+1=3837+1=38 Thus, David's rank 

from the first is 38th. 

 

Answer 2 (Tips and tricks): Subtract David's rank from the total participants and add 1: 

50−13+1=3850−13+1=38 

 

Q4: If Sophia ranks 4th from the top in her class and 17th from the bottom, how many students 

are there in the class? 

Answer 1 (Normal method): To find the total number of students, we need to sum Sophia's rank from 

the top and her rank from the bottom and subtract 1 (since she is counted in both ranks). So: 

4(𝑡𝑜𝑝)+17(𝑏𝑜𝑡𝑡𝑜𝑚)−1=204(top)+17(bottom)−1=20 Thus, there are 20 students in the class. 

 

Answer 2 (Tips and tricks): Add Sophia's ranks and subtract 1: 4+17−1=204+17−1=20 



 

 

 

Q5: In a queue, Tom is 7th from the front and 13th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we need to add Tom's 

position from the front and his position from the end, then subtract 1 (since he is counted in both ranks). 

So: 7(𝑓𝑟𝑜𝑛𝑡)+13(𝑒𝑛𝑑)−1=197(front)+13(end)−1=19 Thus, there are 19 people in the queue. 

 

Answer 2 (Tips and tricks): Add Tom's ranks and subtract 1: 7+13−1=197+13−1=19 

 

Q6: Emma is 5th in a line of 15 children. How many children are behind her? 

Answer 1 (Normal method): To determine how many children are behind Emma, we need to subtract 

her rank from the total number of children and exclude her own position. So: 15−5=1015−5=10 Thus, 

10 children are behind Emma. 

 

Answer 2 (Tips and tricks): Subtract Emma's rank from the total number of children: 

15−5=1015−5=10 

 

Q7: In a competition, Michael finished 5th out of 25 participants. How many participants finished 

after him? 

Answer 1 (Normal method): To find the number of participants who finished after Michael, we need to 

subtract his rank from the total number of participants and exclude his own position. So: 

25−5=2025−5=20 Thus, 20 participants finished after Michael. 

 

Answer 2 (Tips and tricks): Subtract Michael's rank from the total number of participants: 

25−5=2025−5=20 

 

Q8: In a sequence of 60 people, Alice is positioned 10th from the start. What is her position from 

the end? 

Answer 1 (Normal method): To determine Alice's position from the end, we need to subtract her 

position from the total number of people and add 1 (to include her position). So: 

60−10+1=5160−10+1=51 Thus, Alice's position from the end is 51st. 

 

Answer 2 (Tips and tricks): Subtract Alice's position from the total number of people and add 1: 

60−10+1=5160−10+1=51 

 

Q9: Peter is 8th in a line of 30 students. How many students are ahead of him? 



 

 

Answer 1 (Normal method): To find how many students are ahead of Peter, we simply need to subtract 

1 from his position since his position is included in the total count. So: 8−1=78−1=7 Thus, 7 students are 

ahead of Peter. 

 

Answer 2 (Tips and tricks): Subtract 1 from Peter's position: 8−1=78−1=7 

 

Q10: Lucy ranks 14th from the top and 16th from the bottom in a test. How many students took 

the test? 

Answer 1 (Normal method): To find the total number of students who took the test, add Lucy's ranks 

from the top and bottom and subtract 1 (as she is counted in both ranks). So: 

14(𝑡𝑜𝑝)+16(𝑏𝑜𝑡𝑡𝑜𝑚)−1=2914(top)+16(bottom)−1=29 Thus, 29 students took the test. 

 

Answer 2 (Tips and tricks): Add Lucy's ranks and subtract 1: 14+16−1=2914+16−1=29 

 

Q11: In a class of 45 students, Maria is 12th from the top. What is her rank from the bottom? 

Answer 1 (Normal method): To determine Maria's rank from the bottom, we need to subtract her rank 

from the total number of students and add 1 (to include her position). So: 45−12+1=3445−12+1=34 

Thus, Maria's rank from the bottom is 34th. 

 

Answer 2 (Tips and tricks): Subtract Maria's rank from the total number of students and add 1: 

45−12+1=3445−12+1=34 

 

Q12: Jake is 6th in a line of 18 people. How many people are behind him? 

Answer 1 (Normal method): To determine how many people are behind Jake, we need to subtract his 

rank from the total number of people and exclude his own position. So: 18−6=1218−6=12 Thus, 12 

people are behind Jake. 

 

Answer 2 (Tips and tricks): Subtract Jake's rank from the total number of people: 18−6=1218−6=12 

 

Q13: In a sequence of 70 people, Olivia is positioned 20th from the start. What is her position from 

the end? 

Answer 1 (Normal method): To determine Olivia's position from the end, we need to subtract her 

position from the total number of people and add 1 (to include her position). So: 

70−20+1=5170−20+1=51 Thus, Olivia's position from the end is 51st. 

 

Answer 2 (Tips and tricks): Subtract Olivia's position from the total number of people and add 1: 

70−20+1=5170−20+1=51 

 



 

 

Q14: If Kevin ranks 11th from the top and 21st from the bottom in a class, how many students are 

there in the class? 

Answer 1 (Normal method): To find the total number of students in the class, we need to add Kevin's 

rank from the top and his rank from the bottom, then subtract 1 (since he is counted in both ranks). So: 

11(𝑡𝑜𝑝)+21(𝑏𝑜𝑡𝑡𝑜𝑚)−1=3111(top)+21(bottom)−1=31 Thus, there are 

 

Answer 2 (Tips and tricks): Add Kevin's ranks and subtract 1: 11+21−1=3111+21−1=31 

 

Q15: In a queue, Sarah is 8th from the front and 12th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Sarah's position 

from the front and her position from the end, then subtract 1 (since she is counted in both ranks). So: 

8(𝑓𝑟𝑜𝑛𝑡)+12(𝑒𝑛𝑑)−1=198(front)+12(end)−1=19 Thus, there are 19 people in the queue. 

 

Answer 2 (Tips and tricks): Add Sarah's ranks and subtract 1: 8+12−1=198+12−1=19 

 

Q16: In a group of 25 people, Alex is 7th from the end. What is his position from the start? 

Answer 1 (Normal method): To determine Alex's position from the start, we subtract his position from 

the total number of people and add 1 (to include his position). So: 25−7+1=1925−7+1=19 Thus, Alex's 

position from the start is 19th. 

 

Answer 2 (Tips and tricks): Subtract Alex's position from the total number of people and add 1: 

25−7+1=1925−7+1=19 

 

Q17: In a sequence of 55 people, Mia is positioned 15th from the start. What is her position from 

the end? 

Answer 1 (Normal method): To determine Mia's position from the end, we subtract her position from 

the total number of people and add 1 (to include her position). So: 55−15+1=4155−15+1=41 Thus, Mia's 

position from the end is 41st. 

 

Answer 2 (Tips and tricks): Subtract Mia's position from the total number of people and add 1: 

55−15+1=4155−15+1=41 

 

Q18: If Daniel is 9th in a line of 30 people, how many people are ahead of him? 

Answer 1 (Normal method): To find how many people are ahead of Daniel, we subtract 1 from his 

position since his position is included in the total count. So: 9−1=89−1=8 Thus, 8 people are ahead of 

Daniel. 

 



 

 

Answer 2 (Tips and tricks): Subtract 1 from Daniel's position: 9−1=89−1=8 

 

Q19: Emily is 10th from the top in a class of 40 students. What is her rank from the bottom? 

Answer 1 (Normal method): To determine Emily's rank from the bottom, we subtract her rank from the 

total number of students and add 1 (to include her position). So: 40−10+1=3140−10+1=31 Thus, Emily's 

rank from the bottom is 31st. 

 

Answer 2 (Tips and tricks): Subtract Emily's rank from the total number of students and add 1: 

40−10+1=3140−10+1=31 

 

Q20: In a queue, Ethan is 6th from the front and 14th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Ethan's position 

from the front and his position from the end, then subtract 1 (since he is counted in both ranks). So: 

6(𝑓𝑟𝑜𝑛𝑡)+14(𝑒𝑛𝑑)−1=196(front)+14(end)−1=19 Thus, there are 19 people in the queue. 

 

Answer 2 (Tips and tricks): Add Ethan's ranks and subtract 1: 6+14−1=196+14−1=19 

 

Q21: In a sequence of 50 people, Ava is positioned 16th from the start. What is her position from 

the end? 

Answer 1 (Normal method): To determine Ava's position from the end, we subtract her position from 

the total number of people and add 1 (to include her position). So: 50−16+1=3550−16+1=35 Thus, 

Ava's position from the end is 35th. 

 

Answer 2 (Tips and tricks): Subtract Ava's position from the total number of people and add 1: 

50−16+1=3550−16+1=35 

 

Q22: If Liam ranks 7th from the top and 18th from the bottom in a class, how many students are 

there in the class? 

Answer 1 (Normal method): To find the total number of students in the class, we add Liam's rank from 

the top and his rank from the bottom, then subtract 1 (since he is counted in both ranks). So: 

7(𝑡𝑜𝑝)+18(𝑏𝑜𝑡𝑡𝑜𝑚)−1=247(top)+18(bottom)−1=24 Thus, there are 24 students in the class. 

 

Answer 2 (Tips and tricks): Add Liam's ranks and subtract 1: 7+18−1=247+18−1=24 

 

Q23: In a queue, Noah is 9th from the front and 11th from the end. How many people are in the 

queue? 



 

 

Answer 1 (Normal method): To find the total number of people in the queue, we add Noah's position 

from the front and his position from the end, then subtract 1 (since he is counted in both ranks). So: 

9(𝑓𝑟𝑜𝑛𝑡)+11(𝑒𝑛𝑑)−1=199(front)+11(end)−1=19 Thus, there are 19 people in the queue. 

 

Answer 2 (Tips and tricks): Add Noah's ranks and subtract 1: 9+11−1=199+11−1=19 

 

Q24: In a sequence of 40 people, Isabella is positioned 12th from the start. What is her position 

from the end? 

Answer 1 (Normal method): To determine Isabella's position from the end, we subtract her position 

from the total number of people and add 1 (to include her position). So: 40−12+1=2940−12+1=29 Thus, 

Isabella's position from the end is 29th. 

 

Answer 2 (Tips and tricks): Subtract Isabella's position from the total number of people and add 1: 

40−12+1=2940−12+1=29 

 

Q25: If Oliver is 11th in a line of 35 people, how many people are ahead of him? 

Answer 1 (Normal method): To find how many people are ahead of Oliver, we subtract 1 from his 

position since his position. So: 11−1=1011−1=10 Thus, 10 people are ahead of Oliver. 

 

Answer 2 (Tips and tricks): Subtract 1 from Oliver's position: 11−1=1011−1=10 

 

Q26: Lily is 14th from the top in a class of 45 students. What is her rank from the bottom? 

Answer 1 (Normal method): To determine Lily's rank from the bottom, we subtract her rank from the 

total number of students and add 1 (to include her position). So: 45−14+1=3245−14+1=32 Thus, Lily's 

rank from the bottom is 32nd. 

 

Answer 2 (Tips and tricks): Subtract Lily's rank from the total number of students and add 1: 

45−14+1=3245−14+1=32 

 

Q27: In a queue, William is 5th from the front and 10th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add William's 

position from the front and his position from the end, then subtract 1 (since he is counted in both ranks). 

So: 5(𝑓𝑟𝑜𝑛𝑡)+10(𝑒𝑛𝑑)−1=145(front)+10(end)−1=14 Thus, there are 14 people in the queue. 

 

Answer 2 (Tips and tricks): Add William's ranks and subtract 1: 5+10−1=145+10−1=14 

 



 

 

Q28: In a sequence of 55 people, Benjamin is positioned 18th from the start. What is his position 

from the end? 

Answer 1 (Normal method): To determine Benjamin's position from the end, we subtract his position 

from the total number of people and add 1 (to include his position). So: 55−18+1=3855−18+1=38 Thus, 

Benjamin's position from the end is 38th. 

Answer 2 (Tips and tricks): Subtract Benjamin's position from the total number of people and add 1: 

55−18+1=3855−18+1=38 

 

Q29: If Ethan ranks 8th from the top and 20th from the bottom in a class, how many students are 

there in the class? 

Answer 1 (Normal method): To find the total number of students in the class, we add Ethan's rank 

from the top and his rank from the bottom, then subtract 1 (since he is counted in both ranks). So: 

8(𝑡𝑜𝑝)+20(𝑏𝑜𝑡𝑡𝑜𝑚)−1=278(top)+20(bottom)−1=27 Thus, there are 27 students in the class. 

 

Answer 2 (Tips and tricks): Add Ethan's ranks and subtract 1: 8+20−1=278+20−1=27 

 

Q30: In a queue, Mia is 7th from the front and 15th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Mia's position 

from the front and her position from the end, then subtract 1 (since she is counted in both ranks). So: 

7(𝑓𝑟𝑜𝑛𝑡)+15(𝑒𝑛𝑑)−1=217(front)+15(end)−1=21 Thus, there are 21 people in the queue. 

 

Answer 2 (Tips and tricks): Add Mia's ranks and subtract 1: 7+15−1=217+15−1=21 

 

Q31: In a sequence of 65 people, Noah is positioned 19th from the start. What is his position from 

the end? 

Answer 1 (Normal method): To determine Noah's position from the end, we subtract his position from 

the total number of people and add 1 (to include his position). So: 65−19+1=4765−19+1=47 Thus, 

Noah's position from the end is 47th. 

 

Answer 2 (Tips and tricks): Subtract Noah's position from the total number of people and add 1: 

65−19+1=4765−19+1=47 

 

Q32: If Olivia is 10th in a line of 40 people, how many people are ahead of her? 

Answer 1 (Normal method): To find how many people are ahead of Olivia, we subtract 1 from her 

position since her position is included in the total count. So: 10−1=910−1=9 Thus, 9 people are ahead of 

Olivia. 

 



 

 

Answer 2 (Tips and tricks): Subtract 1 from Olivia's position: 10−1=910−1=9 

 

Q33: A group of 50 students is arranged in a line. John is 17th from the left and 24th from the 

right. How many students are in the middle of the line? 

Answer 1 (Normal method): To find the number of students in the middle, we need to subtract John's 

position from both ends of the line and then add 1 to include John's position. So: 

50−17−24+1=1050−17−24+1=10 Thus, there are 10 students in the middle of the line. 

 

Answer 2 (Tips and tricks): Add John's positions and subtract from the total students: 

50−(17+24)=1050−(17+24)=10 

 

Q34: In a group of 60 people, Sarah is positioned 15th from the start. What is her position from 

the end? 

Answer 1 (Normal method): To determine Sarah's position from the end, we subtract her position from 

the total number of people and add 1 (to include her position). So: 60−15+1=4660−15+1=46 Thus, 

Sarah's position from the end is 46th. 

 

Answer 2 (Tips and tricks): Subtract Sarah's position from the total number of people and add 1: 

60−15+1=4660−15+1=46 

 

Q35: If Liam ranks 12th from the top and 22nd from the bottom in a class, how many students are 

there in the class? 

Answer 1 (Normal method): To find the total number of students in the class, we add Liam's rank from 

the top and his rank from the bottom, then subtract 1 (since he is counted in both ranks). So: 

12(𝑡𝑜𝑝)+22(𝑏𝑜𝑡𝑡𝑜𝑚)−1=3312(top)+22(bottom)−1=33 Thus, there are 33 students in the class. 

 

Answer 2 (Tips and tricks): Add Liam's ranks and subtract 1: 12+22−1=3312+22−1=33 

 

Q36: In a queue, Emma is 8th from the front and 10th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Emma's position 

from the front and her position from the end, then subtract 1 (since she is counted in both ranks). So: 

8(𝑓𝑟𝑜𝑛𝑡)+10(𝑒𝑛𝑑)−1=178(front)+10(end)−1=17 Thus, there are 17 people in the queue. 

 

Answer 2 (Tips and tricks): Add Emma's ranks and subtract 1: 8+10−1=178+10−1=17 

 

Q37: In a sequence of 70 people, Jacob is positioned 20th from the start. What is his position from 

the end? 



 

 

Answer 1 (Normal method): To determine Jacob's position from the end, we subtract his position from 

the total number of people and add 1 (to include his position). So: 70−20+1=5170−20+1=51 Thus, 

Jacob's position from the end is 51st. 

 

Answer 2 (Tips and tricks): Subtract Jacob's position from the total number of people and add 1: 

70−20+1=5170−20+1=51 

 

Q38: If Mia is 9th in a line of 30 people, how many people are ahead of her? 

Answer 1 (Normal method): To find how many people are ahead of Mia, we subtract 1 from her 

position since her position is included in the total count. So: 9−1=89−1=8 Thus, 8 people are ahead of 

Mia. 

 

Answer 2 (Tips and tricks): Subtract 1 from Mia's position: 9−1=89−1=8 

 

Q39: Lucy is 11th from the top in a class of 50 students. What is her rank from the bottom? 

Answer 1 (Normal method): To determine Lucy's rank from the bottom, we subtract her rank from the 

total number of students and add 1 (to include her position). So: 50−11+1=4050−11+1=40 Thus, Lucy's 

rank from the bottom is 40th. 

 

Answer 2 (Tips and tricks): Subtract Lucy's rank from the total number of students and add 1: 

50−11+1=4050−11+1=40 

 

Q40: In a queue, Noah is 6th from the front and 16th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Noah's position 

from the front and his position from the end, then subtract 1 (since he is counted in both ranks). So: 

6(𝑓𝑟𝑜𝑛𝑡)+16(𝑒𝑛𝑑)−1=216(front)+16(end)−1=21 Thus, there are 21 people in the queue. 

 

Answer 2 (Tips and tricks): Add Noah's ranks and subtract 1: 6+16−1=216+16−1=21 

These answers cover various scenarios involving number, ranking, and time sequence questions, 

providing both detailed solutions and concise tips and tricks for quick problem-solving. 

 

Q40: In a queue, Noah is 6th from the front and 16th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Noah's position 

from the front and his position from the end, then subtract 1 (since he is counted in both ranks). So: 

6(𝑓𝑟𝑜𝑛𝑡)+16(𝑒𝑛𝑑)−1=216(front)+16(end)−1=21 Thus, there are 21 people in the queue. 

 



 

 

Answer 2 (Tips and tricks): Add Noah's ranks and subtract 1: 6+16−1=216+16−1=21 

These answers cover various scenarios involving number, ranking, and time sequence questions, 

providing both detailed solutions and concise tips and tricks for quick problem-solving. 

 

Q41: In a sequence of 60 people, Mia is positioned 25th from the start. What is her position from 

the end? 

Answer 1 (Normal method): To determine Mia's position from the end, we subtract her position from 

the total number of people and add 1 (to include her position). So: 60−25+1=3660−25+1=36 Thus, Mia's 

position from the end is 36th. 

 

Answer 2 (Tips and tricks): Subtract Mia's position from the total number of people and add 1: 

60−25+1=3660−25+1=36 

 

Q42: If James is 15th in a line of 40 people, how many people are ahead of him? 

Answer 1 (Normal method): To find how many people are ahead of James, we subtract 1 from his 

position since his position is included in the total count. So: 15−1=1415−1=14 Thus, 14 people are 

ahead of James. 

 

Answer 2 (Tips and tricks): Subtract 1 from James's position: 15−1=1415−1=14 

 

Q43: Sarah is 9th from the top in a class of 50 students. What is her rank from the bottom? 

Answer 1 (Normal method): To determine Sarah's rank from the bottom, we subtract her rank from the 

total number of students and add 1 (to include her position). So: 50−9+1=4250−9+1=42 Thus, Sarah's 

rank from the bottom is 42nd. 

 

Answer 2 (Tips and tricks): Subtract Sarah's rank from the total number of students and add 1: 

50−9+1=4250−9+1=42 

 

Q44: In a queue, Ethan is 7th from the front and 12th from the end. How many people are in the 

queue? 

Answer 1 (Normal method): To find the total number of people in the queue, we add Ethan's position 

from the front and his position from the end, then subtract 1 (since he is counted in both ranks). So: 

7(𝑓𝑟𝑜𝑛𝑡)+12(𝑒𝑛𝑑)−1=187(front)+12(end)−1=18 Thus, there are 18 people in the queue. 

Answer 2 (Tips and tricks): Add Ethan's ranks and subtract 1: 7+12−1=187+12−1=18 

 

 


